
Champ Mobile 4 Roll Masker
Part #4201 Assembly Instructions

Auto Body Toolmart
Champ Frame Straightening Equipment, Inc.

2545 Mi l lennium Dr. ,  E lg in  IL ,  60124
800-382-1200  www.autobodytoo lmar t .com



• 1 - Bottom Support Base (a)
• 1 - Vertical Bracket (b)
• 1 - Long Paper Holder (c)
• 2 - Medium Paper Holders (d)
• 1 - Short Paper Holder (e)
• 2 - Utility Hooks (f)
• 2 - Wheels (g)
• 2 - Wheel Anchor Caps (g)
• 8 - 5/16” Bolts (h)
• 16 - 5/16” Flat Washers (h)
• 8 - 5/16” Lock Washers (h)
• 12 - 5/16” Nuts (h)

Pa r t s  L i s t

a

b

h

c

d

e

g

f



Attach wheels to bottom support

base. Push on wheel anchor cap.

Insert vertical

bracket into

bottom base.

Tap in lightly

with rubber

mallet if

necessary.

Attach long paper holder to

vertical bracket in the bottom

holes with bolts.

Secure to the

vertical bracket with

washers & nuts.

Repeat with the two medium

paper holders.

Attach the short

paper holder to

the vertical

bracket in the

upper most bolt

holes. Attach

the two utility

hooks in the

holes below the

short paper

holder.

I n s t r u c t i o n s

1.

Your Mobile Four

Roll Masker for

Paper & Tape is

ready for paper &

tape 

2.

3.

4.

5.



Slide large washer onto paper bar.

Slide paper roll onto

paper bar as far as

it will go. Add

washer and paper

lock. Tighten paper

lock to hold paper

roll in place.

Push roll of masking tape onto tape

holder. Make sure it is snug.

Pull tape and attach to paper roll. Make sure the

tape overlaps the paper roll to have an exposed

edge of tape to stick to surface to be painted.

Insert paper with tape into paper cutting guide.

Make sure you go over the spring. Do not put

paper under spring or tape will stick to bar.

Loading Paper & Tape

1. 2.

3.

4.

5.

Your Mobile Four Roll Masker for Paper & Tape is

loaded and ready to use.


